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d. The force of mortality Is constant between ages 80 and 81.
e, Deaths are uniformly distributed between 81 and 82.
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2. (10 points) You are given two groups of people. Group 1 contains 100,000 people, each aged 50
whose mortality is assumed to follow the Standard Ultimate Life Table.

Group 2 also contains 100,000 people, each aged 50. Their mortality is described in the
following table.

! 1950

0 0.00148
1 0.00150
2 0.00164
3 0.00177

Calculate how many more people from Group 1 survive to age 54 than do from Group 2.
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